Fraction Reference Sheet for TI-84 and TI-83 family of calculators

The TI- 84 and TI-83 family of calculators do not have the 
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 button on them. To enter a simple fraction or an improper fraction into the TI-84 or TI-83, use the [image: image2.wmf]¸

 key.
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 do the following:
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2/3 should appear on the display screen.
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, your answer will be displayed as a decimal. Even after the decimal appears on the screen, you may still press[image: image16.wmf]MATH
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 to see the fraction answer. You do not have to clear the screen and reenter the values.

To add, subtract, multiply, or divide simple fractions or improper fractions, enter each fraction as in the above example with the correct operation ( +, –, ×, [image: image19.wmf]¸

) between the fractions.  Put (  ) around the fractions. You do not have to get a common denominator for the addition or subtraction problems.
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You should see 1/4 on the display screen.  Notice this answer is in reduced form. The TI-84 and TI-83 will always give the answer in reduced form.
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The display screen has 31/24 as the answer.  Notice the answer is an improper fraction, not a mixed number.  You will need to change the answer to a mixed number by hand (hint use division). The TI-84 and TI-83 will never display the answer as a mixed number.
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The display screen has 11/8 as the answer.  You will need to change this answer to a mixed number by hand (hint use division). The TI-84 and TI-83 will never display the answer as a mixed number.
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There are two ways that you can perform operations with mixed numbers on the TI-84 and TI-83 calculator.  

Method I.  Enter the mixed numbers as mixed numbers by using the fact that a mixed number is a whole number plus a simple fraction.

To enter a mixed number, put the whole number plus the simple fraction inside parenthesis.
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 into the TI-84 and TI-83, do the following: [image: image59.wmf](
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.

To add, subtract, multiply or divide mixed numbers, enter each mixed number as shown above with the operation sign between the numbers.
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35/6 is now displayed on the screen.  You will need to change this number to a mixed number by hand (hint use division).  The answer is 5[image: image78.wmf]5
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.

Example:  [image: image79.wmf]19

516

811

+


[image: image80.wmf](

5[image: image81.wmf]+

1[image: image82.wmf]¸

8[image: image83.wmf])

[image: image84.wmf]+

[image: image85.wmf](

16[image: image86.wmf]+

9[image: image87.wmf]¸

11[image: image88.wmf])

[image: image89.wmf]MATH

[image: image90.wmf]FRAC

[image: image91.wmf]ENTER


1931/88 is now displayed on the screen. You will need to change this number to a mixed number by hand (hint use division).  The answer is [image: image92.wmf]83
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Method II.  Before entering the numbers into the calculator, change the mixed numbers to improper fractions and enter the improper fractions into the calculator.  
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35/6 is on the display. You will need to change this number to a mixed number by hand (hint use division).   The answer is 5[image: image108.wmf]5
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.
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21/10 is on the display.  You will need to change this number to a mixed number by hand (hint use division).  The answer is 2[image: image124.wmf]1
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.

When the answers are “messy” improper fractions, the calculator can assist in changing the improper fraction into a mixed number. Enter the problem as before, but do not press[image: image125.wmf]MATH
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. This will give the decimal equivalent to the answer. Then subtract the whole number part from this decimal value. Now press[image: image129.wmf]MATH
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Example:  
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= 5697/200

Instead just enter the mixed numbers and then press[image: image144.wmf]ENTER

.
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. The decimal answer will appear. Answer: 28.485

Since 28 is the whole number part of the answer, subtract 28 when 28.485 is displayed on the screen. Then type [image: image155.wmf]MATH
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. This will give 97/200.

The final answer is [image: image158.wmf]97
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Warning: This method will not always work. Sometimes the calculator will not convert the decimal to a fraction, so you must still know how to change an improper fraction to a mixed number by hand!

Practice:
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Answers to Practice:
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  Student must divide to change the answer to a mixed number. = 3[image: image207.png]
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  Student must divide to change the answer to a mixed number. = 17[image: image231.png]
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  Student must divide to change the answer to a mixed number. = 3[image: image245.png]
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  Student must divide to change the answer to a mixed number. = 4[image: image254.png]
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